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ARISHLE-EE (FHXFE TEBRBHESEX BMB2ER SHEIS

A# & A A FHTTE10R30B | T Effits CHERRSE) ¥9,358,182

IR R

ARLE 8 Ayt—o e

1 |BR&# LT 9,330,000 RE

2 |BERS wRLEE% 9,358,182

3 |ARS SoT7A/E% 9,358,182

4 ARz FIREE iR

5 A EERE iR
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IR KiEER
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1 |BRE# HIKEIBRE 15,549,100 RE

2 = BAE 15,980,000

3 AR EERE 16,000,000

4 |BRRH ARKEISE 16,000,000

5 |FERKE XL/ MXIE 16,000,000
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1 (et v2IF 9,900,000 RE

2 |BA=tt BEER 10,300,000

3 |BR=# MINKEIHE 10,300,000

4 |HHKE 10,300,000

5 |ARst ABKEIE 10,308,000
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1 |%kA&tt Ki5LE 8,100,000 RE

2 |MX&rt ZHEEH 8,170,000

3 |AR& S#HuT# 8,180,000

4 |\EEEZE FREH 8,194,000

5 |BERS AFEE 8,194,546

6 |KAE®%R st 8,194,546
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1 | KBk #=&#t 11,600,000 RE

2 AR S&LT# 11,670,000

3 |N\EREE%X AR=tt 11,680,000

4 |MX&rt ZHEEH 11,700,000

5 |BERS AFEE 11,701,819

6 |t KELE 11,701,819
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S HIR ffiAg = 87.29 %



AtLFERR

ARISHLEEE |[FHRFE d2EARFEREIMEEE JIIE-RER EBNRIE

A EAB SHMTE10A308|F E Mg CHERIRE) ¥30,506,364
FIER BRR
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1 |N\NEREX ARe4 30,000,000 RE
2 |BA=w K5t 30,400,000
3 |RAEHR M 30,500,000
4 |KERHE e 30,500,000
5 MRt AWIHE 30,500,000
6 |HR=H AREER 30,506,364
7 |BRE KIFES 30,506,364
8 Bt HRTH R
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¥ SEOREFRMERVREFBRMEEEITROESYTT,
= 1K il PR i 1% 26,836,448 H
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1 |[BR&# 2hFHR 10,820,000 RE

2 |BE=—FLY HASH/DNHREZERN 11,224,000

3 |ARS SoT7A/E% 11,453,000

4 |BR=# SEHILTHE iR

5 [ARE4 FINMEE iR

6 |MX=t EHFER iR
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= 1K il PR i 1% 9,925,721 M
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1 |EERE% 8,000,000 RFE

2 |t NEER 8,390,000

3 |HEMTEER 8,418,000
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5 |EELR iR
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¥ SEOREFRMERVREFBRMEEEITROESYTT,
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1 |ARs# Wz EEELKR 4,120,000 RE
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